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SBI Clerk Prelims LIVE LEAK 

QUESTIONS IN HINDI 

Q 1. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

He would go on from win one/of the most coveted championship/games in the 

history of Basketball. 

I. He would go on to win one 

II. of the most coveted championships 

III. games on the history of Basketball. 

1) I only 

2) II only  

3)  Both I and II 

4) Both II and III 

5) I, II and III 

 

Q 2. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 
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It were destined/that she should be able/to keep her promise to him. 

I. It was destined 

II. that she could be able 

III. to kept her promise to him. 

1) I only 

2) II only 

3) Both I and II 

4) Both II and III 

5) I, II and III 

 

Q 3. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

Howard blames disagreements with a/professor regarding this hypothesis/in a 

reason for his leaving the college. 

I. Howard blames disagreements along a 

II. professors regarding this hypothesis 

III. as a reason for his leaving the college. 

1)  I only 

2) II only  

3) III only 
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4) Both II and III 

5) I, II and III 

 

Q 4. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

It was indeed fate whom/brought the lovers together/from that rainy August 

afternoon. 

I. It was indeed fate that 

II. were to brought the lovers together 

III. on that rainy August afternoon. 

1) I only 

2)  II only  

3) Both I and III 

4) Both II and III 

5) I, II and III 

 

Q 5. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 
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By the will of his father he/had granted sole rights to his/father's lands and the 

properties in Mayfield. 

I. By the will in his father he 

II. had been granted sole rights to his 

III. father's lands and the properties on Mayfield. 

1) I only 

2) II only 

3) Both I and II 

4) Both II and III 

5) I, II and III 

Q 6. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement'. 

It was deigned unnecessary by the council to be holding public functions anymore. 

A. It were deigned unnecessary 

B. It was deemed unnecessary 

C. It had been deigned unnecessary 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 
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5) No improvement 

 

Q 7. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement'. 

The teacher felt great remorse in spite to the overwhelming response by the 

students. 

A. remorsed in spite to  

B. remorse in spite of 

C. remorse despite 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

 

Q 8. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement.' 

The coach was on the vestige of leading the team to a great victory at the 

Basketball tournament. 
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A. Was on the verge of 

B. Were on the vestige of 

C. Was on the cusp of 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

 

Q 9. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement.' 

In doing so, the children wanted to cultivate better personalities for themselves. 

A. In done so 

B. By done so 

C. In doing to 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 
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Q 10. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement'. 

The crisis made Kennedy believe that another failure on part of the United 

States in arrest communist expansion would fatally damage U.S. credibility. 

A. for the arrest communist expansion would 

B. in arresting communist expansion would 

C. to arrest communist expansion would 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

 

Q 11. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. The television seemed to quickly _______ radio as the major source of 

entertainment. 
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II. The performance shown by the boy would _______ even the toughest Olympic 

athletes. 

1) Cover 

2) Conflict 

3) Conflict 

4) Propose 

5) Ignite 

Q 12. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. Little did I know that this incident from my past would come back to _______ 

me. 

II. Cafe de Flore was the favourite _______ of the artists in the 1920s Paris. 

1) Balm 

2) Club 

3) Joint 

4) Haunt 

5) Invest 

Q 13. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 
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I. The edge of the cliff seemed very _______ and I wondered how anybody could 

have ever climbed it. 

II. The bigger slope would mean a _______ demand curve and lesser elasticity of 

the demand for a product. 

1) Tall 

2) Escalating 

3) Steep 

4) Diminishing 

5) Skip 

 

Q 14. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. He was the most _______ person I had met, as his magnanimity showed no 

bounds. 

II. The purpose of such _______ institutions is to ensure the poor and the needy 

are well taken care of. 

1) Disciplined 

2) Poor 

3) Administrative 

4) Executive 

5) Charitable 
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Q 15. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. Sentences of such type would compare _______ but similar ideas in a 

paragraph. 

II. As soon as I entered the room, I got the _______ impression of having been 

there before. 

1) Different 

2) Distinct 

3) Thought 

4) Evolution 

5) Dodge 

 

Direction: Read the following passage carefully and answer the questions 

given below.  

The Centre’s decision to revoke the Armed Forces (Special Powers) Act in Meghalaya 

and reduce its Ambit in Arunachal Pradesh is welcomed insofar as it signifies a 

willingness to reconsider the use of the special law as and when the ground situation 

improves. The extent of ‘disturbed areas’ in Meghalaya was earlier limited to within 20 

km of its border with Assam. The whole of Nagaland, most of Assam, and Manipur 

excluding the areas falling under seven Assembly constituencies in Imphal, continue to 

be under the law, which provides protection to the point of total immunity from 

prosecution for the security forces operating in the notified areas. In Arunachal, the 

areas under AFSPA have been reduced to the limits of eight police stations, instead of 

the previous 16, in three districts bordering Assam. It was only last month that the Act 
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was extended for six months in Assam, even though the Union Home Ministry has said 

the situation has improved considerably. AFSPA was extended in Nagaland by six 

months from January. There is no sign that the vigour of the law will be diluted, but the 

area of its use may be progressively curtailed over time. It was withdrawn in Tripura in 

2015. Assam has been empowered to decide on how long it needs the cover of AFSPA. 

Even though there is ample evidence that the law has created a sense of impunity among 

the security forces wherever it has been invoked, the Centre is still far from abrogating 

the Act, mainly because the Army favours its continuance. Manipur had borne the brunt 

of Army excesses over the years. In a rare intervention in a matter concerning internal 

security, in 2016 the Supreme Court had ruled that the armed forces cannot escape 

investigation for excesses committed in the discharge of their duties even in ‘disturbed 

areas’. It ordered a probe into specific cases. In other words, accountability for human 

rights violations is sacrosanct and the legal protection offered by AFSPA cannot be 

absolute. During the Budget session, Union Minister of State for Home Hansraj 

Gangaram Ahir informed the Lok Sabha in a written reply that the government was 

considering a proposal to make AFSPA more “operationally effective and humane”. In 

2005, a committee headed by former Supreme Court judge B.P. Jeevan Reddy was 

tasked by the then United Progressive Alliance government with suggesting 

amendments to AFSPA. The committee recommended that the law is repealed 

altogether and that the Unlawful Activities (Prevention) Act is amended in a manner 

that would enable insurgency and conflict to be tackled legally. Now that there is some 

degree of official recognition that special laws for protecting armed forces personnel 

from the legal consequences of their operations and excesses need not continue 

indefinitely, it is time for the Centre to revisit the Jeevan Reddy committee report and 

find ways of humanising AFSPA, if not revoking it altogether. 

 

Q 16. What is the meaning of insofar? 
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1) Instead of  

2) Despite  

3) As long as 

4) So far as 

5) Although 

 

Q 17. Which of the following words is similar in meaning to the word sacrosanct?  

1) Captivate 

2) Beguile 

3) Unassailable 

4) Delight  

5) Enthrall 

 

Q 18. What was the recommendation of the ''Jeevan Reddy led committee'' that the 

author wants government to revisit?  

1) It said that the Act should be amended to humanize AFSPA, instead revoking it 

altogether 

2) It said that the law is draconian and Army officers taking undue advantage of the 

Act must be given severe punishments  

3) It said that states should be given the right to decide whether they want AFSPA to 

continue or not  

4) It said that the law be abrogated, and that the Unlawful Activities (Prevention) 

Act be amended so that insurgency and conflict to be tackled legally 

5) None of the above 
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Q 19. How much area was under AFSPA in Meghalaya prior to its complete revocation?  

1) It was limited to 20 km of its border with Manipur 

2) It was limited to 20 km of its border with Assam 

3) It was limited to 21 km of its border with Tripura 

4) It was limited to 20 km 

5) It was limited to 26 km of its border with West Bengal 

 

Q 20. Why does the author want the Government to at least humanise the AFSPA Act?  

1) Because human rights abuse has taken a dirty turn in India and more and more 

people are coming out on the streets to protest against it. 

2) Because much of the insurgency in India has already been tackled which makes 

AFSPA completely useless. 

3) Because there is some degree of official recognition that special laws for 

protecting armed forces personnel from the legal consequences of their 

operations and excesses need not continue indefinitely. 

4) Because AFSPA has been criticized globally by various human rights organisation 

and the author is apprehensive that ignoring this would damage India's image in 

the world. 

5) All of the above 

 

Q 21. ''Armed forces cannot escape investigation for excesses committed in the 

discharge of their duties even in ‘disturbed areas.’ '' What did this decision meant 

for the armed forces?  

1) It meant that cases against Indian forces would be dismissed if the victims of 

human rights violations are found to have engaged in acts against the state. 
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2) It meant that the degree of accountability for human rights violations will vary 

depending upon the circumstances under which an act was performed.  

3) It meant that armed forces can't escape investigation if any lapse in the discharge 

of duties is found.  

4) It meant that accountability for human rights violations is of utmost importance 

and the legal protection offered by AFSPA cannot be absolute. 

5) None of the above 

 

Q 22. What according to the author is going to be the scope of this Special Act going 

ahead?  

1) According to the author in the future this act will provide protection to the point 

of total immunity from prosecution for the security forces.  

2) The author believes that the strength of the law is not likely to be diluted, but the 

area of its use may be progressively curtailed over time. 

3) The author believes that States will be empowered to decide on how long it needs 

the cover of AFSPA in the future. 

4) The author believes that the law will be repealed altogether, and that the 

Unlawful Activities (Prevention) Act be amended in a manner that would enable 

insurgency and conflict to be tackled legally. 

5) All if the above 

 

Q 23. Which of the following is one of the major flaws in the Armed Forces Special 

Powers Act?  

1) It legitimizes killing of innocent civilians. 

2) It creates a sense of impunity among the security forces. 

3) It can be invoked by the armed forces anywhere in India to suit their needs. 
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4) It gives armed forces power to overturn government decisions as well as court's 

decision. 

5) None of the above 

 

Q 24. Which among the following states is completely under AFSPA Act? 

1) Arunachal Pradesh 

2) Tripura 

3) Assam 

4) Manipur 

5) Nagaland 

 

Q 25. What does Government's decision to revoke AFSPA in Meghalaya indicate?  

1) It indicates the willingness of Narendra Modi led government to attract 

investment to North Eastern Regions from East Asia. 

2) It indicates that Peace is returning to North Eastern Regions. 

3) It indicates that the power to invoke and revoke this act lies in the hand of the 

ruling central government only. 

6) A willingness to revoke the use of this special act as and when the ground 

situation improves. 

4) All of the above 

 

Direction: The following sentences form a paragraph. The second and the 

fifth sentences of the paragraph are given. The rest of the sentences are 

numbered as A, B, C, D and E. These five parts are not given in their proper 
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order. Read the sentences and choose the alternative that arranges them in 

correct order. 

A. Its principal objection was that CPEC passed through Pakistan-occupied Kashmir 

(PoK). 

2. India registered its protest by boycotting the high-profile Belt and Road Forum 

organised by China. 

B. Otherwise, its protests on CPEC may well be ignored by stakeholders in the project, 

with little consequence. 

C. It says the so-called ‘China-Pakistan Economic Corridor’ violates India’s sovereignty 

and territorial integrity. No country can accept a project that ignores its core concerns 

on sovereignty and territorial integrity. 

5. At a broader level, if China invests heavily in the region, it risks becoming party to 

what has been a troubling bilateral dispute between nuclear-armed rivals.  

D. India has sent a clear message to Beijing that it doesn’t support China-Pakistan 

Economic Corridor(CPEC).  

E. CPEC is ultimately a thorn in India-Pakistan relations. The best way forward would 

be for India to come up with a concrete plan on PoK.  

 

Q 26. Which of the following is THIRD in the above given passage?  

1) A 

2) B 

3) D 

4) E 

5) C 
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Q 27. Which of the following is FOURTH in the above given passage?  

1) C 

2) A 

3) E 

4) B 

5) D 

 

Q 28. Which of the following is LAST(SEVENTH) in the above given passage?  

1) B 

2) E 

3) D 

4) A 

5) C 

 

Q 29. Which of the following is FIRST in the above given passage?  

1) D 

2) E 

3) A 

4) B 

5) C 

 

Q 30. Which of the following is SIXTH in the above given passage?  
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1) B 

2) D 

3) E 

4) A 

5) C 

निरे्दश: निम्िलिखित जािकारी का अध्ययि कीजजए और िीचे दर्दए गए प्रश्िों के उत्तर र्दीजजए। 

पवि, जॉि का पपता है। स्वीटी, िाग की माां है जो जॉि का भाई है। बन्िी, स्वीटी का बेटा है। 

चचन्िी, बन्िी की बहि है। 

Q 31. जॉि, चचन्िी से कैसे सांबांचित है? 

1) जािकारी अपयााप्त 

2) कज़ि 

3) भाई 

4) बहि 

5) अांकि 

Q 32. पवि, बन्िी से कैसे सांबांचित है? 

1) अांकि 

2) ग्रैंडफार्दर 

3) पपता 

4) भाई 

5) कज़ि 
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निरे्दश: निम्िलिखित जािकारी का अध्ययि कीजजए और िीचे दर्दए गए प्रश्िों के  

उत्तर र्दीजजए। 

पाांच छात्र L, M, N, O और P हैं, जजिमें से प्रत्येक की िम्बाई लभन्ि है। O तीसरा सबसे 

छोटा छात्र िहीां है। L केवि एक छात्र से छोटा है। N केवि P से िांबा है 

Q 33. निम्ि में से कौि तीसरा सबसे छोटा छात्र है? 

1) L 

2) M 

3) N 

4) O 

5) P 

Q 34. निम्ि में से कौि सबसे िम्बा है? 

1) L 

2) M 

3) N 

4) O 

5) P 
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Q 35. निरे्दश: निम्िलिखित प्रश्ि में दर्दए गए कथिों को सत्य मािकर, ज्ञात कीजजये कक दर्दए 

गए निष्कर्षों में से कौिसा/कौिसे निष्कर्षा निजश्चत रूप से सत्य है/हैं और उसके अिुसार उत्तर 

र्दीजजये। 

कथि: Z < P ≤ A = J ≥ T > N; O ≥ L = E > A < D; V < S > J > R 

निष्कर्षा: 

I. V > N 

II. S ≥ N 

III. Z < L 

IV. O > R 

1) केवि III सत्य है। 

2) केवि I और III सत्य हैं। 

3) केवि III और IV सत्य हैं। 

4) केवि I, III और IV सत्य हैं। 

5) केवि I, II और III सत्य हैं। 
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Q 36. निरे्दश: निम्िलिखित प्रश्ि में दर्दए गए कथिों को सत्य मािकर, ज्ञात कीजजये कक दर्दए 

गए निष्कर्षों में से कौिसा/कौिसे निष्कर्षा निजश्चत रूप से सत्य है/हैं और उसके अिुसार उत्तर 

र्दीजजये। 

कथि: Z = Y ≥ I > O ≤ X = S; R > M > E > Z ≤ G; F ≤ Y ≤ N > V > D. 

निष्कर्षा: 

I. I < R 

II. D > I 

III. R > O 

IV. N > O 

1) केवि I और III सत्य हैं। 

2) केवि I और II सत्य हैं। 

3) केवि I, II और III सत्य हैं। 

4) केवि III और IV सत्य हैं। 

5) निष्कर्षा II को छोड़कर सभी सत्य हैं। 

Q 37. निरे्दश: निम्िलिखित प्रश्ि में दर्दए गए कथिों को सत्य मािकर, ज्ञात कीजजये कक दर्दए 

गए निष्कर्षों में से कौिसा/कौिसे निष्कर्षा निजश्चत रूप से सत्य है/हैं और उसके अिुसार उत्तर 

र्दीजजये। 
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कथि: C > O ≥ Q ≤ T ≤ N ≥ Y = R; I ≥ V ≥ E ≤ S ≤ R; R > L > A; K < G ≤ 

M > Q ≥ D 

निष्कर्षा: 

I. N > E 

II. N = E 

III. N > A 

IV. T ≥ G 

1) केवि III सत्य है। 

2) केवि III और या तो I या II सत्य हैं। 

3) केवि II और III सत्य हैं। 

4) केवि या तो I या II सत्य है। 

5) केवि III और IV सत्य हैं। 

Q 38. निरे्दश: निम्ि प्रश्ि में चार कथि और उसके बार्द I, II, III और IV से अांककत चार 

निष्कर्षा दर्दए गये हैं। आपको दर्दए गये कथिों को सत्य माििा है, भिे ही वे ज्ञात तथ्यों से 

अिग प्रतीत होते हों। सभी निष्कर्षों को पदिए और कफर निर्ाय कीजजए कक दर्दये गये निष्कर्षों 

में से कौिसा/कौिसे निष्कर्षा ज्ञात तथ्यों को िजरअांर्दाज करिे पर कथिों का ताकका क रूप से 

अिुसरर् करता है/करत ेहैं। 
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कथि: 

कुछ बांर्दर तोते हैं। 

कोई तोता गाय िहीां है। 

कुछ गाय घोड़ ेहैं। 

सभी घोड़ ेबाघ हैं। 

निष्कर्षा: 

I. कुछ बाघ तोते हैं। 

II. कुछ गाय बांर्दर हैं। 

III. कोई तोता बाघ िहीां है। 

IV. कुछ घोड़ ेतोते हैं। 

 

1) केवि IV अिुसरर् करता है। 

2) केवि I अिुसरर् करता है। 

3) केवि II अिुसरर् करता है। 

4) केवि या तो I या III अिुसरर् करता है। 

5) केवि II और IV अिुसरर् करत ेहैं। 
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Q 39. निरे्दश: निम्ि प्रश्ि में चार कथि और उसके बार्द I, II, III और IV से अांककत चार 

निष्कर्षा दर्दए गये हैं। आपको दर्दए गये कथिों को सत्य माििा है, भिे ही वे ज्ञात तथ्यों से 

अिग प्रतीत होते हों। सभी निष्कर्षों को पदिए और कफर निर्ाय कीजजए कक दर्दये गये निष्कर्षों 

में से कौिसा/कौिसे निष्कर्षा ज्ञात तथ्यों को िजरअांर्दाज करिे पर कथिों का ताकका क रूप से 

अिुसरर् करता है/करत ेहैं। 

कथि: 

सभी घड़ी गीत हैं। 

कुछ गीत केक हैं। 

कुछ झांड ेघड़ी िहीां हैं। 

कोई कुसी गीत िहीां है। 

निष्कर्षा: 

I. कुछ गीत झांड ेिहीां हैंI 

II. कुछ घड़ी केक हैं। 

III. कोई घड़ी कुसी िहीां है। 

IV. सभी कुलसायाां केक हो सकती हैं। 

1) केवि I और IV अिुसरर् करत ेहैं। 
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2) केवि I और III अिुसरर् करत ेहैं। 

3) केवि III अिुसरर् करता है। 

4) केवि I, III, IV अिुसरर् करत ेहैं। 

5) केवि II, III और IV अिुसरर् करत ेहैं। 

 

निरे्दश: निम्ि सांख्या शे्रर्ी का अध्ययि कीजजये और िीचे दर्दए गए प्रश्िों के उत्तर र्दीजजये। 

3 1 4 7 3 9 8 5 5 2 6 3 1 1 8 6 3 8 9 2 2 4 1 4 6 7 8 

Q 40. निम्ि में से कौि-सी सांख्या र्दाएां छोर से िौवीां सांख्या के र्दायें से तीसरी है? 

1) 4 

2) 2 

3) 5 

4) 6 

5) इिमें से कोई िहीां 

Q 41. शे्रर्ी में ऐसी ककतिी पवर्षम सांख्याएां हैं जजिके ठीक पहिे और ठीक बार्द एक सम सांख्या 

है? 

1) एक 

2) र्दो 
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3) तीि 

4) चार 

5) चार से अचिक 

 

Q 42. शे्रर्ी में ऐसी ककतिी सम सांख्याएां हैं जजिके ठीक पहिे एक पवर्षम सांख्या और ठीक बार्द 

एक सम सांख्या है? 

1) एक 

2) र्दो 

3) तीि 

4) चार 

5) चार से अचिक 

Q 43. यदर्द MOTHER के लिए कूट 79 है, तो SISTER के लिए कूट क्या होगा? 

1) 89 

2) 88 

3) 91 

4) 90 

5) 93 
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निरे्दश: निम्िलिखित व्यवस्था का ध्यािपूवाक अध्ययि कीजजये और दर्दए गए प्रश्िों के उत्तर 

र्दीजजये: 

4 C * 3 B J 5 K % L 9 M 6 N * A 8 P 1 @ Q $ R 2 S # T U 7 G 

Q 44. यदर्द उपरोक्त व्यवस्था से सभी सांख्याओां को हटा दर्दया जाये, तो र्दायें से र्दसवें पर्द के 

बाएां से छठा क्या होगा? 

1) 7 

2) C 

3) 6 

4) % 

5) कोई भी िहीां 

Q 45. यदर्द उपरोक्त व्यवस्था से सभी चचन्हों को हटा दर्दया जाए तो बाएां से छठे पर्द के र्दायें से 

आठवााँ पर्द कौि सा है? 

1) 7 

2) C 

3) 6 

4) 8 

5) कोई भी िहीां 
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Q 46. उपरोक्त व्यवस्था में ऐसे ककतिे व्यांजि हैं, जजिके ठीक पहिे एक सांख्या है और ठीक 

बार्द एक चचन्ह है? 

1) एक 

2) र्दो 

3) तीि 

4) तीि से अचिक 

5) कोई भी िहीां 

Q 47. एक निजश्चत कूट भार्षा में शब्र्द STYLE को LSYET लििा गया है और TURKY को 

KTRYU लििा गया है। उस कोड भार्षा में ZEBRA को कैसे लििा जाएगा? 

1) RZBAE 

2) ARBZE 

3) AEBRZ 

4) ARBEZ 

5) AZBER 

Q 48. निरे्दश: निम्िलिखित प्रश्ि में, पवकल्पों में दर्दए गए वर्ों के ककस समहू को र्दी गई वर्ों 

की श्ररांििा में ररक्त स्थािों पर क्रलमक रूप से रििे पर वह उस श्ररांििा को पूर्ा करेगा? 

kk _ kk_k _ kkkk _ k_ 

1) mkmmk 
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2) nmnmk 

3) nmmkm 

4) nnmkk 

5) kmnkn 

निरे्दश: निम्िलिखित जािकारी का अध्ययि कीजजये और िीचे दर्दए गए प्रश्िों के उत्तर र्दीजजये। 

कुमार उत्तर की ओर 10 मीटर चिता है। वहाां से वह र्दक्षिर् की ओर 6 मीटर चिता है। कफर, 

वह पूवा की ओर 3 मीटर चिता है। 

Q 49. वह प्रारजम्भक बब ांर्द ुसे ककस दर्दशा में है? 

1) पूवा 

2) पजश्चम 

3) उत्तर – पजश्चम 

4) उत्तर – पूवा 

5) उत्तर 

Q 50. वह अपिे प्रारांलभक बब ांर्द ुसे ककतिी र्दरू है? 

1) 1 मीटर 

2) 2 मीटर 

3) 3 मीटर 
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4) 4 मीटर 

5) 5 मीटर 

निरे्दशः निम्िलिखित जािकारी का अध्ययि कीजजये और िीचे दर्दए गए प्रश्िों के उत्तर र्दीजजये। 

आठ व्यजक्त - अिु, कक्रस, एिेि, गौरी, जजैस्मि, िीिा, निक और पेरू एक गोिमेज़ के चारो 

तरफ सामाि र्दरूी पर एक र्दसूरे के सम्मिु बैठे हैं (िेककि इसी क्रम में यह अनिवाया िहीां है)। 

इिमें से प्रत्येक जसै्मीि से ककसी ि ककसी तरह से सांबांचित है। कक्रस जसै्मीि के बाईं ओर से 

तीसरे स्थाि पर है। जसै्मीि और पेरू के बीच केवि एक व्यजक्त है। जसै्मीि की बहि पेरू के 

ठीक र्दायीां ओर बैठी है। जसै्मीि की बहि और जसै्मीि की मााँ के बीच केवि र्दो व्यजक्त हैं। 

अिू जसै्मीि की माां के ठीक र्दायीां ओर है। निक गौरी के ठीक र्दायीां ओर है। जजैस्मि का भाई 

निक के र्दायें से तीसरे स्थाि पर है। जसै्मीि की पत्िी जसै्मीि के भाई के बाएां से र्दसूरे स्थाि 

पर है। जसै्मीि की पत्िी और एिेि के बीच केवि तीि व्यजक्त हैं। जसै्मीि का बेटा जसै्मीि 

के पपता के र्दायें से र्दसूरे स्थाि पर बैठा है। जसै्मीि के पपता और जसै्मीि की बेटी के बीच 

केवि र्दो व्यजक्त हैं। 

 

Q 51. निम्िलिखित में से कौि जजैस्मि का भाई है? 

1) पेरू  

2) निक 

3) कक्रस 
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4) अिु 

5) गौरी 

Q 52. कक्रस के र्दायें से गर्िा करिे पर जजैस्मि और कक्रस के बीच ककतिे व्यजक्त बैठे हैं? 

1) पाांच 

2) र्दो 

3) चार 

4) तीि 

5) एक 

Q 53. पेरू के ठीक र्दायें कौि बैठा है? 

1) अिु 

2) जजैस्मि की बहि 

3) जजैस्मि 

4) जजैस्मि की पत्िी 

5) कक्रस 

Q 54. र्दी गयी जािकारी के सन्र्दभा में निम्िलिखित में से कौि सा कथि सत्य है? 

1) जजैस्मि अपिे पपता के ठीक बगि बैठा है। 

2) गौरी पेरू की सास है। 
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3) निक अि ुके ठीक बाएां बैठा है। 

4) जजैस्मि की मााँ जजैस्मि के ठीक बाएां बैठी है। 

5) सभी सही हैं। 

Q 55. अिु, एिेि से कैसे सम्बांचित है? 

1) बहि 

2) चाचा 

3) भाभी 

4) पपता 

5) पुत्री 

निरे्दश: निम्िलिखित जािकारी का adhyay कीजजये और प्रश्िों के उत्तर र्दीजजये: 

आठ व्यजक्त र्दो समान्तर पांजक्तयों में ऐसे बैठे हैं की आमिे - सामिे बैठे प्रत्येक व्यजक्त के 

बीच र्दरूी सामाि है और प्रत्येक पांजक्त में चार व्यजक्त हैं। पांजक्त – 1 में P, Q, R और S बैठे 

हैं और सभी र्दक्षिर् की ओर सम्मिु हैं। पांजक्त – 2, में A, B, C, और D बैठे हैं और सभी 

उत्तर की ओर सम्मिु हैं। अतः इस व्यवस्था में प्रत्येक पांजक्त में बैठा व्यजक्त र्दसूरी पांजक्त में 

बैठे व्यजक्त के सम्मिु है। ये सब अिग - अिग स्थािों: दर्दल्िी, जयपरु, पटिा, परेु्, मुांबई, 

चेन्िई, लशिौंग और सरूत से हैं, िेककि क्रम अनिवाया िहीां है। 

दर्दल्िी का व्यजक्त, C के सम्मिु बैठे व्यजक्त के र्दायें से र्दसूरे स्थाि पर बैठा है। दर्दल्िी के 

व्यजक्त के ठीक बगि में बैठा व्यजक्त, पटिा के व्यजक्त के सम्मिु बैठा है। पटिा के व्यजक्त 
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और B के बीच केवि एक व्यजक्त बठैा है। B के सम्मिु बैठा व्यजक्त P के बाएां से र्दसूरा है। 

B के ठीक बगि बैठा व्यजक्त जयपरु के व्यजक्त के सम्मिु बैठा है। जयपुर के व्यजक्त के 

सम्मिु बैठा व्यजक्त, परेु् के व्यजक्त के र्दायें से र्दसूरे स्थाि पर बैठा है। जयपुर के व्यजक्त और 

S के बीच केवि एक व्यजक्त बैठा है। R, सरूत के व्यजक्त के सम्मिु बैठा है। R ि तो जयपुर 

से है िा ही मुांबई से है। D के ठीक बगि में बैठा व्यजक्त, लशिौंग से है। D, B के ठीक बगि 

िहीां बैठा है। 

Q 56. निम्िलिखित में से कौि सी जोड़ी, र्दोिों में से ककसी पांजक्त के छोर पर बैठी है?  

1) SQ 

2) PR 

3) AC 

4) BD 

5) RS 

Q 57. निम्िलिखित में से कौि सा कथि R के सन्र्दभा में सत्य िहीां है?  

1) R, पांजक्त के र्दायें छोर पर बैठा है। 

2) R, सरूत के व्यजक्त के सम्मिु बैठा है। 

3) R, P के बाएां से र्दसूरा है। 

4) R और S के बीच र्दो व्यजक्त बैठे हैं। 

5) R, Q के ठीक बगि बैठा है।  
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Q 58. र्दी गयी व्यवस्था के अिुसार, पाांच में चार ककसी ि ककसी तरह से सम्बांचित है और एक 

समहू बिात ेहैं। निम्िलिखित में से कौि उस समहू से सम्बांचित िहीां है?  

1) R 

2) S 

3) C 

4) A 

5) B 

Q 59. व्यजक्त और स्थाि की कौि सी निम्िलिखित जोड़ी गित है?  

1) P – मुांबई  

2) R – दर्दल्िी 

3) D – पटिा  

4) B – सरूत  

5) C – लशिौंग  

Q 60. निम्िलिखित में से कौि पुरे् से है?  

1) S 

2) Q 

3) R 

4) A 
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5) B 

निरे्दश: निम्िलिखित जािकारी का अध्ययि कीजजये और िीचे दर्दए गए प्रश्िों के उत्तर र्दीजजये। 

P, Q, R, S, T, V, W और Z दर्दल्िी, हैर्दराबार्द और चेन्िई की यात्रा तीि अिग-अिग 

वाहिों: होंडा लसटी, जस्वफ्ट और फोडा में कर रहे हैं। उिमें से तीि मदहिाएां हैं और प्रत्येक कार 

में एक मदहिा बैठी है। प्रत्येक कार में कम से कम र्दो व्यजक्त हैं। 

R, Q और W के साथ यात्रा िहीां कर रहा/रही है। T, एक पुरुर्ष है और केवि Z के साथ यात्रा 

कर रहा है और वे चेन्िई िहीां जा रहे हैं। P, एक पुरुर्ष है और होंडा लसटी में हैर्दराबार्द के लिए 

यात्रा कर रहा है। S, P की बहि है और फोडा द्वारा यात्रा कर रही है। V और R साथ यात्रा 

कर रहे हैं। W चेन्िई की यात्रा िहीां कर रहा/रही है। 

 

Q 61. निम्िलिखित में से ककस वाहि में सर्दस्य चेन्िई जा रहे हैं? 

1) हौंडा लसटी 

2) जस्वफ्ट 

3) फोडा 

4) फोडा अथवा जस्वफ्ट 

5) ज्ञात िहीां कर सकत े

Q 62. ककस वाहि में चार व्यजक्त यात्रा कर रहे हैं? 
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1) फोडा 

2) जस्वफ्ट 

3) हौंडा लसटी 

4) हौंडा लसटी अथवा जस्वफ्ट 

5) इिमें से कोई िहीां 

Q 63. निम्ि में से कौिसा सांयोजि तीि मदहिा सर्दस्यों को र्दशााता है? 

1) Q, S, Z 

2) W, S, Z 

3) P, S, Z 

4) R, S, Z 

5) ज्ञात िहीां कर सकत े

Q 64. निम्िलिखित में से कौि सा समहू जस्वफ्ट में यात्रा कर रहा है? 

1) T, Z, W 

2) T, S, Z 

3) T, Z 

4) R, T, Z 

5) ज्ञात िहीां कर सकत े 
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Q 65. वर्ों A, T, H, R और E का प्रत्येक शब्र्द में केवि एक बार प्रयोग करत ेहुए (D से 

आरम्भ होिे वािे) अांगे्रज़ी के ककतिे अथापूर्ा शब्र्द बिाये जा सकत ेहैं? 

1) एक 

2) र्दो 

3) तीि 

4) तीि से अचिक 

5) एक भी िहीां 

Q 66. निम्िलिखित प्रश्ि में प्रश्ि चचह्ि '?' के स्थाि पर अिुमानित क्या माि आयेगा? (आपको सटीक माि की 

गर्िा करि ेकी आवश्यकता िहीां हैं) 

81.84 + 145.87 + 15.64 = 90.003 + 35.88 + ? 

1) 125 

2) 111 

3) 118 

4) 151 

5) 132 

Q 67. निम्िलिखित प्रश्ि में, प्रश्ि चचह्ि ‘?’ के स्थाि पर अिुमानित क्या माि आयेगा? 

(आपको सटीक माि की गर्िा करिे की आवश्यकता िहीां हैं) 

(4800 का 12.90%) ÷ 26 = ? का 5.94% 
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1) 800 

2) 700 

3) 600 

4) 400 

5) 200 

Q 68. निम्िलिखित प्रश्ि में, प्रश्ि चचह्ि '?' के स्थाि पर अिुमानित क्या माि आयेगा? 

(आपको सटीक माि की गर्िा करिे की आवश्यकता िहीां हैं) 

(365.27 + 76.01)
1

2 ÷ 6.89 =
3×?

2
  

1) 12 

2) 9 

3) 30 

4) 4 

5) 2 

Q 69. निम्िलिखित प्रश्ि में प्रश्ि चचह्ि ‘?’ के स्थाि पर क्या आिा चादहए? (आपसे सटीक 

माि की गर्िा की अपेिा िहीां है) 

89.01 – 23.76 + 46.83 – 23.92 + 46.908 = ? 

1) 130 

2) 124 

3) 135 

https://testbook.com/offers
https://testbook.com/offers


  
 

39 | P a g e  

 

4) 119 

5) इिमें से कोई िहीां 

Q 70. निम्िलिखित प्रश्ि में प्रश्ि चचह्ि ‘?’ के स्थाि पर क्या आिा चादहए? (आपसे सटीक 

माि की गर्िा करिे की अपेिा िहीां है) 

63.706 × 2.3 + 46.408 × 3.8 – 23.692 × 4.6 = ? 

1) 182 

2) 165 

3) 176 

4) 192 

5) इिमें से कोई िहीां 

Q 71. निम्िलिखित प्रश्ि में प्रश्ि चचन्ह '?' के स्थाि पर क्या आिा चादहए? 
9

13
 का 2197 + 3

7
𝑜𝑓1155 =? 

1) 2020 

2) 2016 

3) 2116 

4) 2061 

5) इिमें से कोई िहीां 
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Q 72. निम्िलिखित प्रश्ि में प्रश्ि चचन्ह '?' के स्थाि पर क्या आएगा? 

78% of √518400 ÷ 2.34 = ? × 1.5 

1) 10 

2) 256 

3) 160 

4) 100 

5) 64 

 

Q 73. निम्िलिखित प्रश्ि में प्रश्ि चचन्ह ‘?’ के स्थाि पर क्या आएगा? 

(9 × 4.5 + 11 × 5.5) + (15 × 7.2) = 225 - ? 

1) 11 

2) 20 

3) 16 

4) 27 

5) 18 

 

Q 74. निम्िलिखित प्रश्ि में प्रश्ि चचह्ि ‘?’ के स्थाि पर क्या आिा चादहए? 

1) 18 

2) 15 
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3) 12 

4) 20 

5) इिमें से कोई िहीां  

 

Q 75. निम्िलिखित प्रश्ि में प्रश्ि चचह्ि '?' के स्थाि पर क्या आयेगा? 

800 का 7.2% + 600 का 11.5% = 112 + ? का 1.4% 

1) 100 

2) 210 

3) 300 

4) 270 

5) 400 

 

निरे्दश: निम्िलिखित तालिका पाांच इिाकों जयिगर, कमिािगर, िािबाग, मजुिेसर और 

िेइपवल्िे में पररवारों के पवतरर् प्रनतशत को दर्दिाती है, उिके द्वारा लिए जािे वािे 

समाचारपत्र अथवा पबत्रका के आिार पर तथा मालसक अथवा वापर्षाक सर्दस्यता के आिार पर भी| 

सभी पररवार समाचार पत्र अथवा पबत्रका िेते हैं और सर्दस्यता या तो वापर्षाक है या मालसक| 
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इिाका 
पबत्रका िरीर्दिे वािे 

पररवारों का प्रनतशत 

पबत्रका के मालसक और 

वापर्षाक सर्दस्यता का 

अिुपात 

समाचारपत्र के मालसक 

और वापर्षाक सर्दस्यता 

का अिुपात 

जयिगर 30 1 ∶ 4 2 ∶ 3 

कमिािगर 38 2 ∶ 3 6 ∶ 7 

िािबाग 48 3 ∶ 5 4 ∶ 5 

मजुिेसर 50 1 ∶ 2 2 ∶ 3 

िेइपवल्िे 60 5 ∶ 3 3 ∶ 2 

 

Comprehension start: 

Q 76. यदर्द मजुिेसर में पबत्रका की वापर्षाक सर्दस्यता 1.5 लमलियि है, तो उस इिाके में 

समाचारपत्र की वापर्षाक सर्दस्यता ज्ञात कीजजये| 

1) 2.1 लमलियि 

2) 7.7 लमलियि 

3) 1.35 लमलियि 

4) 2.25 लमलियि 

5) इिमें से कोई िहीां 
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Q 77. यदर्द िेइपवल्िे में समाचार पत्र की वापर्षाक सर्दस्यता 5.7 लमलियि है, तो उस इिाके में 

समाचारपत्र और पबत्रका र्दोिों की वापर्षाक सर्दस्यता की कुि सांख्या ककतिी है? 

1) 3.8 लमलियि 

2) 10.5 लमलियि 

3) 9.5 लमलियि 

4) 11.4 लमलियि 

5) इिमें से कोई िहीां 

 

Q 78. िािबाग में पबत्रका की वापर्षाक सर्दस्यता की सांख्या ककतिी होगी यदर्द उस इिाके में 

पररवारों की कुि सांख्या 42 लमलियि है? 

1) 12.6 लमलियि 

2) 33.6 लमलियि 

3) 30 लमलियि 

4) 26.25 लमलियि 

5) इिमें से कोई िहीां 

 

Q 79. जयिगर में पबत्रका की कुि वापर्षाक सर्दस्यता क्या होगी यदर्द पबत्रका की मालसक 

सर्दस्यता 105 लमलियि है? 
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1) 210 लमलियि 

2) 420 लमलियि 

3) 520 लमलियि 

4) 425 लमलियि 

5) इिमें से कोई िहीां 

 

Q 80. यदर्द कमिािगर में समाचारपत्र की सर्दस्यता की सांख्या 3.6 लमलियि है और िेइपवल्िे 

में 12 लमलियि, तो कमिािगर और िेइपवल्िे में पररवारों की कुि सांख्या का अिुपात 

क्या होगा? 

1) 1 ∶ 6 

2) 3 ∶ 10 

3) 6 ∶ 7 

4) 5 ∶ 9 

5) इिमें से कोई िहीां 

 

Q 81. एक बल्िेबाज़ का पहिी 15 पाररयों तक एक पवशेर्ष औसत है। उि 15 पाररयों के बार्द, 

वह बार्द की पाररयों में 65 और 75 रि बिाता है और इस प्रकार वह अपिे औसत में 5 

रि से बिोतरी करता है। 15 पाररयों तक उसका औसत क्या है? 

1) 30.5 
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2) 35 

3) 32.5 

4) 27.5 

5) 40 

 

Q 82. यदर्द 12 िोटबुक बेचिे पर पवके्रता को र्दो िोटबुक के पवक्रय मलू्य के बराबर िाभ होता 

है तो ककतिे प्रनतशत िाभ हुआ? 

1) 20% 

2) 25% 

3) 16% 

4) जािकारी अिूरी है 

5) इिमें से कोई िहीां 

 

Q 83. एक पवद्याथी द्वारा 3 अिग - अिग पवर्षयों में प्राप्त ककये गये अांकों का अिुपात 4 ∶ 

9 ∶ 24 है। यदर्द तीिों पवर्षय A, B और C में अांकों की सांख्या में वरद्चि क्रमशः 20%, 

36% और 25% है, तो िया अिुपात क्या है? 

1) 40 ∶ 102 ∶ 250 

2) 63 ∶ 105 ∶ 25 
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3) 33 ∶ 87 ∶ 92 

4) 35 ∶ 92 ∶ 45 

5) इिमें से कोई िहीां 

 

Q 84. एक बन्र्दर एक व्यजक्त द्वारा लिए गये प्रत्येक 7 कर्दमों के लिए 5 कर्दम छिाांग मारता 

है िेककि बन्र्दर की 5 छिाांग, व्यजक्त के 6 कर्दमों के बराबर है। तो व्यजक्त और बन्र्दर 

के गनत का अिुपात क्या है? 

1) 7 ∶ 5 

2) 5 : 7 

3) 7 : 6 

4) नििााररत िहीां ककया जा सकता 

5) इिमें से कोई िहीां 

 

Q 85. निम्िलिखित सांख्या श्ररांििा में प्रश्ि चचह्ि ‘?’ के स्थाि पर क्या आिा चादहए? 

1) 354 

2) 390 

3) 384 

4) 378 

5) 387 
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Q 86. निम्िलिखित सखं्या श्रंििा में प्रश्ि चिह्ि ‘?’ के स्थाि पर क्या आिा िाहिए? 

6, 18, 96, ? , 7776 

1) 750 

2) 345 

3) 250 

4) 5456 

5) 645 

 

Q 87. निम्िलिखित सखं्या श्रंििा में प्रश्ि चिह्ि ‘?’ के स्थाि पर क्या आिा िाहिए? 

8, 19, 52, 151, ? 

1) 248 

2) 348 

3) 448 

4) 548 

5) 648 
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Q 88. निम्िलिखित सखं्या श्रंििा में प्रश्ि चिह्ि ‘?’ के स्थाि पर क्या आिा िाहिए? 

46, 65, 86, 109, ? 

1) 154 

2) 134 

3) 124 

4) 144 

5) 164 

 

Q 89. निम्िलिखित सखं्या श्रंििा में प्रश्ि चिह्ि ‘?’ के स्थाि पर क्या आिा िाहिए? 

48252, 48249, 16080, 3213, ? 

1) 945 

2) 764 

3) 456 

4) 232 

5) 342 
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Q 90. एक व्यक्क्त 20 रुपये में एक सतंरा िरीदता िै। यहद उसे एक दर्जि सतंरे िरीदिे िैं, 

तो उसे कुि 200 रूपए की रालि का भगुताि करिा िोगा। एक दर्जि सतंरे िरीदिे पर 

उसे लमििे वािे छूट का अिुमानित प्रनतित क्या िोगा? 

1) 12% 

2) 20% 

3) 11% 

4) 8% 

5) 17% 

 

Q 91. एक व्यापार भागीदार, व्यापार में कमीिि के िुकता िोिे के बाद िाभ में से अपिे 

कमीिि के तौर पर 30% प्राप्त करता िै। अगर व्यापार भागीदार का कमीिि 9000 

रुपये िै तो व्यापार में कुि िाभ ककतिा िुआ? 

1) 27,000 

2) 21,000 

3) 30,000 

4) 39,000 

5) इिमें से कोई ििीं 
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Q 92. एक धिरालि को 3 वर्षों के लिए ककसी निक्श्ित दर पर साधारण ब्यार् पर रिा गया। 

यहद धिरालि को 3% अचधक ब्यार् दर पर रिा र्ाता, तो 27 रु. अचधक प्राप्त िोते। वि 

धिरालि क्या िै? 

1) 400 रु 

2) 250 रु 

3) 300 रु 

4) 500 रु 

5) इिमें से कोई ििी ं

 

Q 93. क्स्थर र्ि में एक आदमी 8 ककमी/घंटा की गनत से िाव ििा सकता िै। यहद िदी के 

बिाव की गनत 2 ककमी/घंटा िै, तो उसे ककसी स्थाि तक िाव ििाकर र्ािे में और 

िौटिे में 24 लमिट िगते िै, तो यि स्थाि वतजमाि स्थाि से ककतिी दरूी पर क्स्थत िै? 

1) 8 ककमी 

2) 3 ककमी 

3) 1.5 ककमी 

4) 6.5 ककमी 

5) 2 ककमी 
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Q 94. एक पाइप एक टंकी को 42 लमिट में भर सकता िै। टंकी में छेद िोिे के कारण टंकी 

को भरिे में 14 लमिट अचधक िगता िै। तो पाइप द्वारा टंकी को भरिे के लिए आवश्यक 

समय और छेद द्वारा टंकी को िािी करिे के लिए आवश्यक समय के बीि का अिुपात 

क्या िै? 

1) 1 : 2 

2) 1 : 3 

3) 3 : 2 

4) 2 : 3 

5) 1 : 4 

 

Q 95. 33 × 41 × 50 को 8 से ववभाक्र्त करिे पर िेर्षफि क्या िोगा? 

1) 11 

2) 8 

3) 4 

4) 2 

5) इिमें से कोई ििीं 
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Q 96. एक व्यक्क्त स्थाि A से स्थाि B की दरूी को 5 घंटों में, 40 मीि प्रनत घंटा की गनत 

से तय करता िै। वि स्थाि B से स्थाि A 25% बढ़ी िुई गनत से वापस िौटता िै। पूरी 

यात्रा के दौराि उसकी औसत गनत ज्ञात कीक्र्ये। 

1) 44.44 मीि प्रनत घंटा 

2) 36.63 मीि प्रनत घंटा 

3) 56 मीि प्रनत घंटा 

4) 42 मीि प्रनत घंटा 

5) इिमें से कोई ििीं 

 

Q 97. एक थैिे में 5 कािी गेंदे, 8 सफ़ेद और 10 पीिी गेंदे िैं। यहद तीि गेंदे यादृच्छ रूप से 

निकािी र्ाती िै, तो निकािी गई तीिों गेंदों के कािे िोिे की क्या प्रानयकता िै? 

1) 10/1771 

2) 28/1181 

3) 10/1177 

4) 28/1717 

5) इिमें से कोई ििीं 

 

Q 98. एक आयत की िम्बाई और िौडाई 4 : 7 के अिुपात में िैं। आयत का क्षेत्रफि 252 

मीटर2 िै। आयत का पररमाप ज्ञात कीक्र्ये। 
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1) 66 मीटर 

2) 18 मीटर 

3) 21 मीटर 

4) 33 मीटर 

5) 12 मीटर 

 

Q 99. एक दो अकंीय सखं्या, उसके अकंों के योग की 8 गिुा िै और यहद इसमें से 45 घटा 

हदया र्ाता िै तो अकं उल्टे िो र्ाते िैं। तो वि सखं्या ज्ञात कीक्र्ये। 

1) 36 

2) 27 

3) 45 

4) 54 

5) 72 

 

Q 100. 72 ककमी/घटें की गनत से िि रिी रेिगाडी A एक पुि को 72 सेकंड में पार करती िै। 

240 मीटर छोटी दसूरी रेिगाडी B र्ो 60 ककमी/घंटे की गनत से िि रिी समाि पिु को 

पार करती िै। रेिगाडी B द्वारा पुि को पार करिे में लिया गया समय क्या िै? 

1) 64 सेकंड 
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2) 66 सेकंड 

3) 72 सेकंड 

4) 68 सेकंड 

5) 67 सेकंड 

 

 

 

 

https://testbook.com/offers
https://testbook.com/offers

